s

"

1. Outline Dimensions

40

200

Antenna FAKRA connectors

186

| NET [[SIeleIU/i

Molex CMC connector

(@)]
i
i
)
— |
— N
o
All dimensions in mm
Material Oberflachenbeschichtung Flache Gezeichnet
N/A rk 08.02.2021
Dimension Gewicht Gepriift
N/A jla 05.01.2022
Allgemeintoleranzen Verwendung / Bezeichnung Gedndert
rk 05.01.2022
NetModuIe‘?G Phone: +1 ((g)';‘ e NGSOO Massstab AL , Bl/at‘r_’
h
CH-3011 Bemn www.netmodule.com Installation Instruction 6@
Artikelnr / Zeichnungsnr | Version
MODULE 0

6

‘ 5

1




6 ‘ 5 ‘ L

2. Mounting Specification

Mounting surface

and mount it to a metal surface if possible.

Mounting hole pattern 195 mm

To optimise cooling of the device, allow air flow around it

6 ‘ 5 ‘ L

Ln
o M4 (4x)
4 :
=
2
o
LN
Ln
<
™M
L
Recommendation: 90 mm space for cable mounting
Material Oberflachenbeschichtung Flache Gezeichnet
N/7A rk 08.02.2021
Dimension Gewicht Gepriift
N/A jla 05.01.2022
Allgemeintoleranzen Verwendung / Bezeichnung Gedndert
rk 05.01.2022
NetModule AG Phone: +1 ((g)';’ e NGB 0 0 Massstab AL Blatt
10 y "
CH-3011 Bem Vo neimoae som Installation Instruction g |2/1
Artikelnr / Zeichnungsnr | Version
MODULE 0




6 ‘ 5 ‘ L 3 2

6 ‘ 5 ‘ L 3 2

1
3. Device Mounting
3.1 Place the screw and lock washer over the mounting hole (Figure 2)
3.2 Tighten the screws | Drive type: Torx T20 | Torque: 2.5Nm (Figure 3)
1001098 M4x10 LK Torx A2 ISO 14581 (4x)
1001128 M4 lock washer A2 (4x)
Figure 2
Figure 3
Material Oberflachenbeschichtung Flache Gezeichnet
N/7A rk 08.02.2021
Dimension Gewicht Gepriift
N/A jla 05.01.2022
Allgemeintoleranzen Verwendung / Bezeichnung Gedndert
rk 05.01.2022
NetModule AG Phone: +1 ((g)';‘ oz N G 8 0 0 Massstab AL Blatt
hszen e Installation Instruction g¢ 3 /1
Artikelnr / Zeichnungsnr | Version
MODULE %
1




A O A S R 1

4. Earthing Cable Mounting (optional)
4.1 Place the screw, lock washer and cable lug over the mounting hole (Figure 4)
D 4.2 Tighten the screw | Drive type: Torx T10 | Torque: 1Nm (Figure 5)
C
1001080 M3x8 Panhead, Torx, A2, ISO 14583
1001127 M3 Ribbed lock washer type S, A2, BN20041
Cembre A1-M3 cable lug 4-6mm
Earthing cable
B
Figure 4
Figure 5

g% Material Oberflachenbeschichtung Flache Gezeichnet

“;3‘” N/A rk 08.02.2021
5 Dimension Gewicht Gepriift

N/A jla 05.01.2022

A Allgemeintoleranzen Verwendung / Bezeichnung Gedndert
rk 05.01.2022
NetModule AG Phone: +1 ((g)';‘ e N G 8 0 0 Massstab AL Blatt
hszen e Installation Instruction g9 |¢ /1
Artikelnr / Zeichnungsnr | Version
MODULE %

6 ‘ 5 ‘ L 3 2 1




6 ‘ 5 ‘ L 3 2 1

5. Antenna Cable Mounting
5.1 Connect the antenna cables according the port layout (Figure 6)
5.2 Recommended cable guidline (Figure 7)
D
Port Layout 5x FAKRA Insert
FAKRA .
Label | Application
Code ab pp
D Al LTE
D A2 LTE
I A3 WLAN
I A4 WLAN
C A5 GNSS
Figure 6
C
g
=)
(@)
(©)
=
4
B
Recommendation: 90 mm space for cable mounting
Refer to cable specs for bending radius
Figure 7
gi% Material Oberflachenbeschichtung Flache Gezeichnet
3T N/A rk 08.02.2021
égé Dimension Gewicht Gepriift
ﬁfi N/A jla 05.01.2022
§ A Allgemeintoleranzen Verwendung / Bezeichnung Gedndert
H rk 05.01.2022
f:(_'éé NetModule AG ;’:f‘"e':ﬂ ((g)';’ 3532255:? NGB 0 0 Massstab Al Blatt
Zu-‘g 3071 e o o Installation Instruction g¢ |5 /1
gfgg Artikelnr / Zeichnungsnr | Version
MODULE 01

6 ‘ 5 ‘ L 3 2 1



L

6. Molex CMC Cable Mounting

6.1 Place the cable with the molex connector (Figure 8)
6.2 Turn the bracket clockwise to the position unlocked (Figure 8)

6.3 Place the molex cable into the molex connector until the guide rail of the bracket

is in the right position to hold the guide bolt of the molex connector (Figure 9)
6.4 Turn the bracket counter-clockwise to push the molex cable into the connector (Figure 10)
6.5 Snap-In the bracket to lock the connector (Figure 11)

= =TT

A= HHHHHHHHHT

O
Ou

— ] -
T

Figure 10

2

“

ngi
A

[er[sopuLe] | |4

| — Guide rail

@m%

O
Oum

Figure 11

Bracket position locked

i

Material

Oberflachenbeschichtung

Gezeichnet

rk 08.02.2021
Dimension Gepriift

jla 05.01.2022
Allgemeintoleranzen Verwendung / Bezeichnung Gedndert

rk 05.01.2022
NetModuIe‘»:\G Phone: +1 ((3;311 oz NGSOO Massstab AL 6 BI;H-’

h

CH-3011 Bern www.netmodule.com Installation Instruction 6@

Artikelnr / Zeichnungsnr | Version

MODULE G

6



6 ‘ 5 ‘ L 3 2

6 ‘ 5 ‘ L 3 2

1
/. Valid Device Mounting Positions
7.1 No mounting position restrictions
Horizontal mounting on x/y surface
XPreferred mounting position
Vertical mounting on x/z surface
Horizontal mounting on x/y surface
Material Oberflachenbeschichtung Flache Gezeichnet
N/A rk 08.02.2021
Dimension Gewicht Gepriift
N/A jla 05.01.2022
Allgemeintoleranzen Verwendung / Bezeichnung Gedndert
rk 05.01.2022
NetModule AG ;’gf‘"e' ::1‘ ((g)’;‘ ggggg:f N G 8 0 0 Massstab AL Blatt
OH3011 e e Installation Instruction g |t /1
Artikelnr / Zeichnungsnr | Version
MODULE 0
1




